> A
N & 0l & Av S Z M A
20198 = =& 2 3 LA JIEISEH 20
2N BZZF0ie ot
M AYS CEME BE
gelr Logdlte s ASEFE (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
Z 204 It 776,322,041 755,537,789 20,784,252
= 665,185,473 651,703,311 13,482,162
J| 5,793,167 5,793,167 0
< 105,343,401 98,041,311 7,302,090
H2E LE:ME BF 643,542,295 627,601, 366 15,940,929
= 557,954,449 548,479,126 9,475,323
J| 5,690,000 5,690,000 0
S 79,897,846 73,432,240 6,465,606
LogXiiel ¥ ASEFE 63,332, 166 62,423,855 908,311
= 53,267,393 52,504,103 763,290
S 10,064,773 9,919,752 145,021
cogxtel € AMFESKE(AZEX)(=D) 63,332, 166 62,423,855 908,311
= 53,267,393 52,504,103 763,290
S 10,064,773 9,919,752 145,021
308 XtXIEHH SOl A 63,332, 166 62,423,855 908,311
= 53,267,393 52,504,103 763,290
S 10,064,773 9,919,752 145,021
01 HXHHBAEES 63,332, 166 62,423,855 908,311
O+ & 2UAH 60,388,638 59,518,511 870,127
= 50,323,865 49,598,759 725,106
= 10,064,773 9,919,752 145,021
O=gdlla Mgl 2,928,042 2,905,344 22,698
= 2,928,042 2,905,344 22,698
OAZE AMAY QdEE X& 15,486 0 15,486
= 15,486 0 15,486
100AIAICH, (E AL X AF 9,673,752 6,321,480 3,352,272
J| 4,646,000 4,646,000 0
& 5,027,752 1,675,480 3,352,272
(SAE)100MAILE 28 L Xkel (RHA) 3,205,632 0 3,205,632
308 MtXIEHMSOIH 3,205,632 0 3,205,632
01 HXNHHBHELS 3,205,632 0 3,205,632
oOz9g gXtel AtY 3,205,632 0 3,205,632
(QTEE )100MAITH HE A DXt 1,173,120 1,026,480 146,640
307 21201 & 1,173,120 1,026,480 146,640
02 HAHFHANGEEX 1,173,120 1,026,480 146,640
oIy EX3 1,080,000 945,000 135,000
o2& Nd= & A=e=24| 93,120 81,480 11,640
CeHEEEM A& = 508,892,353 508,244,213 648,140
= 481,087,118 481,087,118 0
< 27,805,235 27,157,095 648,140
COXNE 9 28 234,513 170,513 64,000
403 A X EHHS =0l A 64,000 0 64,000
01 XX SHH A2 2 & 64,000 0 64,000




2N
X ZH -
L= B

el

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
O3 JlsE2d X 64,000 0 64,000
I2Y 29 g4 N 4,019,090 3,461,390 557,700
308 XXM SOl A 2,183,490 2,078,390 105, 100
01 AXHHBLEES 2,183,490 2,078,390 105, 100
oZzd 244 N& 1,734,852 1,629,752 105, 100
403 A X EH S 20l A 1,835,600 1,383,000 452,600
01 HXSHHGEEE 1,835,600 1,383,000 452,600
o0Zz2% Jls2d XA 1,835,600 1,383,000 452,600
LololoiEsd ¥ =23 HE 241,400 216,400 25,000
201 ¢er24| 8,000 1,000 7,000
01 AF2 22l bl 8,000 1,000 7,000
OLel=XAY =2 7,000 0 7,000
202 044l 8,000 0 8,000
01 SLHOYI 8,000 0 8,000
oreloloisd & =235 8 = 8,000 0 8,000
403 A X EHHS 20l A 10,000 0 10,000
01 X SHH A2 2 & 10,000 0 10,000
okols JIs2d X 10,000 0 10,000
SMIl - 880 Sk &8s X 49,440 48,000 1,440
308 A EHSOIA 49,440 48,000 1,440
01 AXHHBEES 49,440 48,000 1,440
O=EAMII - E28I 23 0248 Otae X 49,440 48,000 1,440
ololz - EXIA4E &= 56,420,993 47,674,158 8,746,835
= 21,708,938 14,887,905 6,821,033
J| 1,044,000 1,044,000 0
= 33,668,055 31,742,253 1,925,802
COIMEAIY 2HIH 29,624,312 29,609,793 14,519
308 XXM SO0 A 29,624,312 29,609,793 14,519
01 AXSHHBAEES 29,624,312 29,609,793 14,519
OFEINRYEE 8¢ X 29,624,312 29,609,793 14,519
COAQAANLEEE(DIsEZ) AH(=2D) 8,936,134 753,634 8,182,500
= 6,922,817 376,817 6,546,000
S 2,013,317 376,817 1,636,500
403 A X EHS K= 0l A 8,936,134 753,634 8,182,500
= 6,922,817 376,817 6,546,000
= 2,013,317 376,817 1,636,500
01 HXSHH =L xR 8,936,134 753,634 8,182,500
OLQQAAE EF(XNMAESEH) 8,182,500 0 8,182,500
= 6,546,000 0 6,546,000
= 1,636,500 0 1,636,500
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22040
AYS LMY BY
LoloE - 2XAA =5

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
SSANHIA SAHAL 22X & HREgS 308,460 252,840 55,620
308 AHAIEHHSOIA 296,460 240,840 55,620
01 HXNHHBHELS 296,460 240,840 55,620
OSSHNEIA BAR ESEX 296,460 240,840 55,620
LOSSIEMEIAANY X2 (Z2) 6,967,789 6,818,822 148,967
= 6,404,860 6,264,170 140,690
=) 562,929 554,652 8,277
308 XXM SO0 A 6,967,789 6,818,822 148,967
= 6,404,860 6,264,170 140,690
=) 562,929 554,652 8,277
01 IXNHHBNEES 6,967,789 6,818,822 148,967
Oko=sII2AMd8lAAMd XI& 6,967,789 6,818,822 148,967
= 6,404,860 6,264,170 140,690
< 562,929 554,652 8,277
SAHALQ AF 2 245 AaY XNJ(21) 237,000 158,000 79,000
= 210,000 140,000 70,000
= 27,000 18,000 9,000
308 XXIEHHSOIA 237,000 158,000 79,000
= 210,000 140,000 70,000
=) 27,000 18,000 9,000
01 AXHHILEES 237,000 158,000 79,000
O=SAHLQ AtSl 2 2dstAY XI& 237,000 158,000 79,000
= 210,000 140,000 70,000
=) 27,000 18,000 9,000
AZANE 29H NE(=1) 2,327,858 2,258,000 69,858
= 2,144,080 2,079,737 64,343
& 183,778 178,263 5,515
308 A EHHSOIA 2,327,858 2,258,000 69,858
= 2,144,080 2,079,737 64,343
< 183,778 178,263 5,515
01 HIXNHHNBHELS 2,327,858 2,258,000 69,858
OLZAIE 24l X 2,327,858 2,258,000 69,858
= 2,144,080 2,079,737 64,343
< 183,778 178,263 5,515
MOt XA MEIA XA 196,371 0 196,371
308 XXM SO A 196,371 0 196,371
01 IXNHHBNEES 196,371 0 196,371
OMIt= A X &MEIA X & 196,371 0 196,371
Lo=EX & FAANE 2HF 2,095,371 0 2,095,371
= 1,891,000 0 1,891,000
= 204,371 0 204,371
S8 ZAMANE EX(21) 2,095,371 0 2,095,371
= 1,891,000 0 1,891,000
= 204,371 0 204,371




2N
X ZH -
L= B
el

SN SAGEA) - MRALY - BES 0l &t o 0% o HlDE 2
403 UHXSHHSA=0l& 2,095,371 0 2,095,371
= 1,891,000 0 1,891,000
& 204,371 0 204,371
01 X SHMA2E X 2,095,371 0 2,095,371
OFAANE &= 2,095,371 0 2,095,371
= 1,891,000 0 1,891,000
< 204,371 0 204,371
EXANE 29 XA 3,127,660 2,937,660 190,000
M Z2XAE 24 2,796,480 2,606,480 190,000
402 RI2EX =20l A 90,000 0 90,000
01 U2 EALE X (MMM ) 90,000 0 90,000
OLQBSHEIN& XA 90,000 0 90,000
403 A X EHS K= 0l A 116,000 16,000 100,000
01 XXM 22 = 116,000 16,000 100,000
oxo=Eia JIs2d N 100,000 0 100,000
ZOI=X AMEE 4 132,647,111 127,856,284 4,790,827
= 107,219,666 103,212,827 4,006,839
J| 103,167 103,167 0
< 25,324,278 24,540,290 783,988
AU =TAE &5 & =29 43,899,249 42,987,277 911,972
= 30,935,129 30,125,119 810,010
J| 103,167 103,167 0
< 12,860,953 12,758,991 101,962
IAE &5 =28 991,053 935,053 56,000
307 21201 A 515,822 505,822 10,000
T M SXAE E X 515,822 505,822 10,000
OFOMC HAXE M 10,000 0 10,000
308 X EHH SOl 457,931 411,931 46,000
01 HIXNHHBNEES 457,931 411,931 46,000
OAZ ZOHel HOAAILXRALEH K& 46,000 40,000 6,000
OXFOMC HOAXE M 40,000 0 40,000
ZUdSERR S HX(=21) 396,000 0 396,000
= 396,000 0 396,000
403 MHXSHHSA=0l& 396,000 0 396,000
= 396,000 0 396,000
01 AR SHHA =22 = 396,000 0 396,000
OZMAMSEH S &X 396,000 0 396,000
= 396,000 0 396,000
ZOHel MEXJMEH 22 526,649 516,649 10,000
308 XX EHHSOIA 152,830 142,830 10,000
01 HIXNHHBNEES 152,830 142,830 10,000




PN Z2Z2E0HA
g ZosEA ANgEE =4
el ZHASIIAIE &5 5

2 2 CERED

SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
Od= NZBZHMWAXNSXNIALE /3S 10,000 0 10,000
AZIEXDNZ BAR HRMHA 147,420 132,120 15,300
308 XXM SOl A 59,220 43,920 15,300
01 AXHHBLEES 59,220 43,920 15,300
OAl=Z ABISXIJI28 SAHA M<IHA 59,220 43,920 15,300
Zoiel MATHEALE 2 743,693 727,438 16,255
307 glztol & 708,693 697,438 11,255
10 AR SXAEHE2EHIEX 708,693 697,438 11,255
Osdd=E2sHAgE 23 343,686 341,806 1,880
OSEESAYHH 29 365,007 355,632 9,375
403 A X EHS =0l A 35,000 30,000 5,000
01 X S22 = 35,000 30,000 5,000
OZMAXMNAMEAE JIs2S 35,000 30,000 5,000
ZOHO XIDASITHEAE 29 3,702,586 3,752,475 A 49,889
307 glztol & 3,693,586 3,743,475 A 49,889
10 ALl SXAIEEE2EHEX 3,693,586 3,743,475 A 49,889
OFHQ MEQSKNAUH 2¢ 317,847 315,056 2,791
ostU e =225 As 29 138,130 137,077 1,063
E =0ESGdH 29 310,456 332,906 N 22,450
OMetM=2tE5A 29 179,852 211,135 N 31,283
ZOHAA=AIE 2EXE(21) 29,591,347 29,209,404 381,943
= 27,204,663 26,852,873 351,790
=) 2,386,684 2,356,531 30,153
308 XXM SOIA 29,471,347 29,089,404 381,943
= 27,144,663 26,792,873 351,790
=) 2,326,684 2,296,531 30,153
01 AXHHBIYEES 29,471,347 29,089,404 381,943
OHMUAANFAIE 2EXA 29,471,347 29,089,404 381,943
= 27,144,663 26,792,873 351,790
< 2,326,684 2,296,531 30,153
ZOHIHZ=AIE 2D X2 (XRHA) 624,512 631,534 AT,022
307 glztol & 376,292 383,314 AT,022
10 AL SXNAIEEE2EHEX 371,320 378,342 AT,022
OO ZSHEIF (02, 0t) 2 86,379 93,401 NT,022
ZOXSA HEANE JIsEL NE 95,000 50,000 45,000
402 RI2HX=01 M 60,000 30,000 30,000
01 U2 E2AILE X (KA M) 60,000 30,000 30,000
OOl MEO|SKIMMH X X 60,000 30,000 30,000
403 A X EHS K= 0l A 35,000 20,000 15,000




fN: ZZF04

Ha: A=K ABEE 84

S HHASIALE &5 & 29 (&)

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
01 AR SHHA 2L 35,000 20,000 15,000
OZOMAXIAAMZITHEAL JIsEL K& 35,000 20,000 15,000
ST MELH X3 (22) 323,418 242,533 80,885
= 248,784 186,564 62,220
= 74,634 55,969 18,665
308 XXM SOIA 323,418 242,533 80,885
= 248,784 186,564 62,220
=) 74,634 55,969 18,665
01 AXHHILEES 323,418 242,533 80,885
OZSSZMHAXNHM2XALE X 323,418 242,533 80,885
= 248,784 186,564 62,220
=) 74,634 55,969 18,665
EZEHANSHMSXAMME X3 (KHA) 8,000 60,500 252,500
308 MtXIEHMSOIH 8,000 60,500 A 52,500
01 AXHHBEES 8,000 60,500 A52,500
SSHMHAXNSHSINJAHE 29 0 52,500 A 52,500
ZOHIHFAIE DIsEZ(XA) 20,000 0 20,000
402 2I2tXt=01& 20,000 0 20,000
01 U2 E2ALEX (KM M) 20,000 0 20,000
OFML HF=AE JIsE2S 20,000 0 20,000
Fojldserd o HEXH 87,589,524 83,901,669 3,687,855
= 76,153,252 72,956,423 3,196,829
=) 11,436,272 10,945,246 491,026
Zoe gsXd=d A3 (=212) 29,450,905 28,356,565 1,094,340
= 27,125,833 26,117,889 1,007,944
=) 2,325,072 2,238,676 86,396
308 XXM SO0l A 29,450,905 28,356,565 1,094,340
= 27,125,833 26,117,889 1,007,944
=) 2,325,072 2,238,676 86,396
01 AXHHBAEES 29,450,905 28,356,565 1,094,340
OFe EsXNE=SH XA 29,450,905 28,356,565 1,094,340
= 27,125,833 26,117,889 1,007,944
< 2,325,072 2,238,676 86,396
oo SN2 0KS2 NA(32) 1,800, 136 0 1,800, 136
= 1,658,020 0 1,658,020
< 142,116 0 142,116
308 XtXIEHH SOl A 1,800, 136 0 1,800, 136
= 1,658,020 0 1,658,020
= 142,116 0 142,116
01 X HHILEES 1,800, 136 0 1,800, 136
©2018F HOHQ EsXN=0 0=z XNE 1,800, 136 0 1,800, 136
= 1,658,020 0 1,658,020
=) 142,116 0 142,116
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ZZZ 0§t

T MBOY

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
HESX JHMB0(2D) 64,458 43,830 20,628
=2 59,367 40,370 18,997
< 5,091 3,460 1,631
308 XtXI &M S0 & 64,458 43,830 20,628
= 59,367 40,370 18,997
= 5,091 3,460 1,631
01 HXSHMBARER 64,458 43,830 20,628
OBEEZE IS0 64,458 43,830 20,628
=2 59,367 40,370 18,997
< 5,01 3,460 1,631
Zojoletz 2UNS(2 D) 33,142,334 33,084,071 58,263
=2 29,366,625 29,315,000 51,625
< 3,775,709 3,769,071 6,638
308 X+ Xl & X S0 & 33,142,334 33,084,071 58,263
=2 29,366,625 29,315,000 51,625
< 3,775,709 3,769,071 6,638
O XS HBARED 33,142,334 33,084,071 58,263
OFMAAS X 33,142,334 33,084,071 58,263
=2 29,366,625 29,315,000 51,625
= 3,775,709 3,769,071 6,638
ZOHO JtE YSXA(22) 993,876 934,623 59,253
=) 695,713 654,236 41,477
= 298,163 280,387 17,776
307 2I2t01 & 993,876 934,623 59,253
=2 695,713 654,236 41,477
< 298,163 280,387 17,776
10 ASIS XA LB E2HE 28X 993,876 934,623 59,253
OFOOIINE %S X 993,876 934,623 59,253
= 695,713 654,236 41,477
= 298,163 280,387 17,776
ST AMHIA HISH XS (2D) 2,871,061 2,871,007 54
= 2,644,400 2,644,350 50
= 226,661 226,657 4
308 XtXI &t X S0 & 2,871,061 2,871,007 54
= 2,644,400 2,644,350 50
< 226,661 226,657 4
01 HXSHB AL XS 2,871,061 2,871,007 54
OLLHEMNYIA HIRH X 2,871,061 2,871,007 54
=2 2,644,400 2,644,350 50
< 226,661 226,657 4
LN BRH N (22) 16,904 16,850 54
2 15,570 15,520 50
< 1,334 1,330 4
308 XtXI & &I S0 & 16,904 16,850 54
2 15,570 15,520 50
< 1,334 1,330 4




fN: ZZF04

g ZosEA ANgEE =4
o S

o HOjQIMESOY U THEXH (&9 &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H HnE2
01 RHXSHBAEEZ 16,904 16,850 54
OANLLYXS HISH X 16,904 16,850 54
=2 15,570 15,520 50
[ 1,334 1,330 4
225A HI2XY(2D) 70,375 53,865 16,510
=2 56,300 51,300 5,000
[ 14,075 2,565 11,510
308 A XISHHI SOl A 70,375 53,865 16,510
=2 56,300 51,300 5,000
[ 14,075 2,565 11,510
01 HXSHIAEERS 70,375 53,865 16,510
o=22sAH H2X2 70,375 53,865 16,510
=2 56,300 51,300 5,000
[ 14,075 2,565 11,510
SR E2ns N (=21D) 0 20,000 A20,000
=2 0 10,000 A 10,000
[ 0 10,000 A 10,000
307 l12+0| & 0 20,000 A20,000
=2 0 10,000 A 10,000
[ 0 10,000 210,000
10 MEEXNAEHES2IHEE 0 20,000 A20,000
OLLENMY BR2NEXH 0 20,000 A20,000
=2 0 10,000 A 10,000
[ 0 10,000 A 10,000
AR01)| E2DS(=2D) 20,000 0 20,000
=2 10,000 0 10,000
[ 10,000 0 10,000
307 12+0| & 20,000 0 20,000
=2 10,000 0 10,000
[ 10,000 0 10,000
11 MBI EXASEX 20,000 0 20,000
OYRO| 220S 20,000 0 20,000
=2 10,000 0 10,000
[=4 10,000 0 10,000
SHOIMED| LSHp Xt & ' DE 88 20,000 0 20,000
wWE(=1)
=2 10,000 0 10,000
[ 10,000 0 10,000
307 QI12+0| & 20,000 0 20,000
=2 10,000 0 10,000
[ 10,000 0 10,000
11 MBI EXAISEX 20,000 0 20,000
OHQIEE)| LaFfol !
mE= 20,000 0 20,000
=2 10,000 0 10,000
= 10,000 0 10,000
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X ZH -
L= B

el

A2 =0l
TOHQI=N ABEE |4
TOHQIMBON U KHEK

2A-F3H-H2A(3) - MY - BES Of] Ak I & Hns2Z
HoADS(2D) 16,000 0 16,000
=2 8,000 0 8,000
< 8,000 0 8,000
307 212101 ™ 16,000 0 16,000
= 8,000 0 8,000
= 8,000 0 8,000
TEE I EEES 16,000 0 16,000
ONAADS 16,000 0 16,000
=2 8,000 0 8,000
= 8.000 0 8,000
SRRl FABEAUA KR (2D) 803,428 540, 143 263,285
=2 740,000 497,500 242,500
= 63,428 42,643 20,785
308 XX SIS0 & 803,428 540, 143 263,285
=2 740,000 497,500 242,500
= 63,428 42,643 20,785
O XS HBARED 803,428 540, 143 263,285
OLLTONQ Z=ABESAHA K (BRH) 803,428 540, 143 263,285
=2 740,000 497,500 242 500
= 63,428 42,643 20,785
X DO AASEIR 2 X (KHH) 128,000 95,000 33,000
307 2I2t01 ™ 128,000 95,000 33,000
10 ASIS XA SH Y28 28X 128,000 95,000 33,000
OXY HORAASEI| Y 2 128,000 95,000 33,000
2T SXIDIIME LXK (2D) 250,000 0 250,000
= 125,000 0 125,000
< 125,000 0 125,000
402 DI2H X 20| & 250,000 0 250,000
= 125,000 0 125,000
= 125,000 0 125,000
03 Q12| EF AL b 250,000 0 250,000
OURET PEIIMY MK 250,000 0 250,000
=2 125,000 0 125,000
= 125,000 0 125,000
2T BXIDJIMEH 2HXA(2D) 56,332 0 56,332
=2 28,166 0 28, 166
= 28,166 0 28, 166
307 2120l & 56,332 0 56,332
=2 28,166 0 28, 166
= 28,166 0 28, 166
10 MBI ST AISH Y28 8 X 56,332 0 56,332
OYRAET BXIIMYH 2L 56,332 0 56,332
=2 28,166 0 28,166
= 28,166 0 28, 166




SRAR
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el

ZZZ 0§t

A=K AEE 4

TOHAAINA & ALSI E O = T

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
ZOHQAINA & ARSI & O &HCH 1,158,338 967,338 191,000
= 131,285 131,285 0
& 1,027,053 836,053 191,000
Zoie 2= A 50,000 16,000 34,000
307 glz2tol & 50,000 0 50,000
11T M SXAISE EX 50,000 0 50,000
OZ¥ e =Ltz HAEE 50,000 0 50,000
308 XXM SO0 A 0 16,000 A 16,000
01 AXHHBSEES 0 16,000 A 16,000
OZ& T =Lz HMAEE 0 16,000 A 16,000
o AL E O =0 F=& 273,000 223,000 50,000
307 clztol & 273,000 223,000 50,000
11T MISAASEX 273,000 223,000 50,000
OZMA=SNSTAY 2 250,000 200,000 50,000
O 243 X 433,500 326,500 107,000
307 glz2tol & 110,000 100,000 10,000
11T M2 SXAEEX 110,000 100,000 10,000
OFHel HAASA 110,000 100,000 10,000
308 XX EHHSOIA 68,000 50,000 18,000
01 AXSHHBEES 68,000 50,000 18,000
OZOML H2H MW XA 8,000 0 8,000
OLL T MIEFH XA 10,000 0 10,000
403 AXHHSXH=0lA 255,500 176,500 79,000
01 AR SHHA =22 = 255,500 176,500 79,000
OZOMAXAMBERAIE JIsEL 109,000 50,000 59,000
OO JIsEH 146,500 126,500 20,000
HWRes(Z2F0el) 52,496 0 52,496
BEINE 52,496 0 52,496
AMBIFINREE2 2 NEXSEES 52,496 0 52,496
802 g+t = DI Et 52,496 0 52,496
01 I DEBXSHE= 52,496 0 52,496
©'1778 LosSsII2MEIAMY X 6,962 0 6,962
O'128 LT Z2FZAXNJEH HAEES 45,534 0 45,534




